20112 =2

0
oF
o
KD
<F

|l

ok
0|
)

)
A

OF
)l

<

—r

<J

<
o}

—r

<
vl

r
H

B
Al

K0
K

J

4

(METI)

X0
Ol
<J

A

3 A

I
oll

12.

2011.

SAHIE
SIS A=




s illy;

B == e

Rr
Eﬂ

KO
Ll

(METI)

OF
[0

gl

L)

Kl
3+

!
[0
ol

<]
Kl
oK
<+

4o
ol

i0J

o
ul
ol

ok

2l

oH

oK

KD
S

Il

&l

i0J

o}
=

ot A
Abedl & =10l

al
=

gl eH
=

o

CIOIE A 2l

NI

AbQY A AR 4

-

"
10
KD

RT

KO
oll

alk

P

KO
Ll

KO

ol

-t

ol

-t

KO
Ll

D 2011 128 122(3) ~ 128 14L(=)

=X
gol-%g

O

(11:05)

by

H0

M
oll

2

Z(09:00) —

nO

- 12.12(&) :

(METI)
(14:50)

|
o

- 12.12(8) ~ 13(&h) :

- 12.14(

I

nO

1

(12:20)

Yy

LHO
I

2

) .

3



sA% il) :

100

KF
Ra
K0

oK
2l
~
ﬁ_rz
00

o El o)
0H = R o Dk m
— O— __OO - m __|A -
K ol B — v el
o 7 X 5 Mo DRy —~ A0
100 ~ 50 M _ & S = U
< <k T I S s = OF - )]
— RO S 5 - o) = Al — ol 3D
1) - < 3 L R A 2 o
| Mmoo DA = < X0 Do <+ g WO o W o
— [0 0 = Mo 71 JIo o) - D [ X0 0l &l 1 = %)o
RO - o _ M wo = = ol Ul M a7 @0 = N o =
do| o wr ot gl S TR oA R
F > = 70 B S o) = 00 Ir oS o w0 <k
. IF MH_ M._ (2N (L Kl = = oK E o od | 1| = < K
— o — - ™ — -
= 0w +ED R L Hoss =y W
oD =2 m;aﬂ éﬁ%ﬂ#@ﬂ B gy M 58 .
WH_A_.W&_@W sl M H__.%,x_:%:nﬂw 50 {0 oK m_wﬁl__roo
< = 3 s < K 40 B IO = %0 10 RI 10
ok _._._“_ = ol o S il < K ™ _H_“_ —
g =R o R = o0~ Dk - &l RO = g RO 0 X0 <F
< W ™ il 7 a0 1] — Al 0 = = <=2 R
O | | _ H W oA = I+ ._.Auw MM Ec = " p |_.rA._ R KD T il
o ' o | x_r_,r:_Io = 14 D) =
ﬁ_ X0 o oL
; 2
0 =
D = U
=
il

oll




s illy;

JJ
<+
<
20
&l
w0
Ho

C--
0lJ
il

-t

10
040
Rl

gl

-t

10

KD
<+

O A=

= Al

O #&XHE=s 0 HHOAM ol=a6t

1
UE
IH
<

Uk
IH

0lJ
I0jr

ol=?

£ 48

(

SES

st

0l O

=
S

O E2tXl== It

LA & dote Ni+=8 Uiz AtEot=2 X7

&

=
ju—

O o

)
$

—t

<J

<
ol
i

i

C--
0l
il

-t

10
040
Rl

il

10

KD
<+

O &=
O t

ra AN

| —
—

J

1o

010

K=& AUZ At

JI

of

X0

AEA
Al

HOll A

&

f[J



s illy;

J

ol

Ho
0

= XI7?

j

O 0= Jt

O Jt=sxl 22

= Al

O #&dXE=s e HHOAM ol=a6t

1
U
IH
<

UE
IH

0lJ

X7 <H?

i

o+

— O
[

)
$

LHO
ol
%0
T

[0
[0

= XI7?

JXIZE AHESE

10
KO

O HEX

O JtsXl ti== Al

=Xl

O #8XHF=E e SHOMAM ol=ot

i

1H
<

R
IH

0lJ
i

010

i
3+

K0

~—

INKER: Ve

JI

o

JI

F

1o

010

i
=
Ki0

b=
o

K

—r

</



s illy;

W
&

1Ho
ol
3l

"l
d

C--
0lJ
i)l

-t

10
040
Rl

oK

il

10

RD
<+

O Nz
O

A K7

AN=& U= AMEot=

Hol=

F

DAL 4V P ES

=
—

JEXI?

JI

]}

0
040
o

0ol

<

Eo
Tl
ol
<J
KJ

C--
OlJ
il

-t

10

BN

]
A

oF

ol
30

<J
KJ

ol
ol

<J
KJ

1o

—

M_
__o”_”_

XI2(

:
[

of

KO
KA
Rl

X

_|

Al

i

K== Kbl

_C,i_]

/

)
3§

Mo
M0
5D
<
KJ

O XAl

C--
JI
|z

]
1o

J
1o
%0

-l

Kl
un

R

o

~J

oJ

C--
JI
|z

JI

1o

I
1o
%0

-l

R
u
4

DF
KO

C--
J!
|z

il
Ile)

-
J!
|z

_Lc
Ile)

Ild

C--
0l
RO
Rl
>
Kt

O Jt



s il)

[0
)l

</
KJ

0

ol
KA

0

o J|El

C--
0L

S =2 FHX

K==/ GDP

b

=35
R =

O &I

HH= HESHKA?

=

sledn
=/

gy

O GDPA A



sy ill)j
il =2 919 We

1. ALE EOANO0 O &8 ZIH(METI EBAH UHE)

<ITEMS> W=

1. BMKEREERA

(@ What kind of production index do you use?
ESWSTBEDEERREERT 557

E#IXERLTLEL, BMRKEADOFEARSE (EMHHITEESHRAIF) Ao/ oN 58170
RBOEEEFAVTREFERELIERK,

20055 FTlE. BHKEANBHKEREERB(FEREARLTEY. IANADOERKICIERE
IEMERAL TV, BIHKEEAIFEREZDPIELT-2006F LIEFIX. BMKEEDIERSGEET
EHRETHEEEL . EFEFEETHER.

@ How do you collect it and apply it?
EDESICUREL T, @AY HH?

AB—RIMNIEYVERKEEDEBARGSH (—RHHEH) HSM170MEBDEESFINEL.
g*%fﬁggﬁ) DEEITAFTMEFHLTHEBEER. VTAREX20055F 0 E X ERR
Mn10 =

@ Component index, How do you use it?
(Use whole index? or Group or division level?

BRI DIEHEE D ESIFERT IO UAREDIEREFERT 552 F(E. KSEN . PHELRILTH

DD EHY . B TIT AL —R#FeIZEHEAH. B (ATHIIETSE I OEI. BERTHIIEN T
VITRT R IGE)DEEREFFERALTLD
BE MKE.AXE-KEXDIEFERL. BIZEMRKERLLTHALTLS,

@ Do you have reasons why you report annual index?

FEROERERETHEAETHEHH? '
EBMHKEADAET—EANERTHDIT=H. ITAMHIEOT/IINESWLNEEEL, 57=oTL\51=8.
® Do you review the possibility to use monthly index?

BRI AEERT 50 (ATHEM) 2 BIRE T 5F (3 H 5 HV?
EBMKESIIARDT—2EAFRLTULVELDTHRO . FIZ X, KkOUNFEIZFIC1BIZDT. A
ROBHREL XS =8,

@ Do you use index from other agency?
fhDHETHEBREISDIEHEFEAT HH?

BB DEY . BHRKEED—RFEHT —FEEAL. BFEEADIER.
2 BEREEEIEM

@ What activity index do you use?
EAILBENEREERAT 552

B BEBENRAEKRT DR T H2EAVTEREEZENRBITERK,

(@ What is the data collecting system and application method?
T—AREAREBERAAEEIMFI THDH?

A 3—FRIFFICKYELRBED AR T2 (BRELEHH IS T EEANHESEEES
INEEL . BT IL—4ATCTREIEL. BEFOBREIVITANTMEFEYL THEREIER.

® Do you use index from other agency?

thD#EHEEI SDIEHMEERT 552

AR EY . B3 EED—RFE T —2RUETIL—2—FFEAL. BFEFXEALER.
3. SR EA RS AND FEIREEFTIHIEH

@ What production(activity) index is used?
EAGEERMMNERSATLNSD?

ST REERBIEEDEMHALGELIS, EEREXTHDIEHEE=EREXODEEFTHERI BE
T—2 (BE#HEH R RERB#HED) N SERK.
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@ What kind of weight is used?
ESVSBEDHIAMERESNTIVSA?

FEEREXETDHREBOVTAMNIEEF (FRH17E) DEFRERROBM A MEEESHH

®) a problem of weight distribution
DIAERPETHLTOMER

FEREXFHERDOVTL, E=REXRFHEROFHVEREB[RO S BLYLFMAT-0.
EFXERROBMGEEBEAROERL COEHIZEHIERNAFORRLLE THMMESE
ENBIHETILELSDHD,

@ Component index, How do you use it? (Use whole index? or Group or division level? )
BEROEHELEDLSITFERTINNLERDIEREFERT 50 £-E. KAEH. PR BELALTHSE
RBIIERAL T,

) Why production isn't used as weight?

SEBNRIIAPELTHERSNGVER

S ERHTHAIPPITALRE [F—BNICIEAMEEEZ D TAMNIT 5, BEOT=27 L THE Ml{E
FHRLTWS,

4. DBEFHER
() What production(activity) index is used?
EARKEEGER) BEMNERIN TS HV?

FEREXTDRBELLIERTNHI ABFETHIEN

@) What is the method of collecting data?
EARBHINERENRHHH?

NEF. BEHBE. XHBHEE, LEEAFOLARBHEII—RYNMITAF,
) What kind of weight is used?

ESVWSEBEOITAMIERINTINSAV?
HIAMIREFEOELEBROMBMAGNMAMSMEEE,ISEH

@ method of seasonal adjustment?

EHARAEIEALL?
toYABiE (X-12-ARIMA) I2&Y , i, B RSB BERE

(® Component index, How do you use it? (Use whole index? or Group or division level?

BRI DEHEEDLIIFERT EMLRDERERRT 5 Tl XSEH . FARLARLTHEL
ABETDEROERIERIEERLTLEL,

® Why production isn't used as weight?
SESNIIAELTERSNGVNER

AMEENBHEERAS0, VIAMIFMEEEZRALTNS, 1L, RRKERETIE, £
EEZHALTOSAERERH, BEICRHKERISMERL TV Y I/ EEETHO =,
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5. IAA

(1) Is a new index compiled by the part in charge?
HLMEMITEY C Lo THRRSh TSN ?

?FMUMELMER T HD 2 ABICEFTHIL?

@ What production(activity) index is used?
EARKEE(EE) BHM ERIN TSIV
J:§E1~40)Eﬁiﬁmo

3) What is the data collecting system and application method?
T-ARERREBREEIEATHHN?

1L~ 4DERIET A TREEXLREHHCAMTERR,

@ Do you use index from other agency?
OMEHEEN D EREERT 50

BAKEXEERBRUVBRIDRBOVTE, FE0EBYRHKEERVELRBED 1R
AERALTRFEREERIL,

(5) What is the utility or value of IAA? /is it efficient? is it valuable?
LERMOERULEE IR THIN /ThEHEHTHLHN? THILMIENHAHV?

RBOXEHARXD B K, ABHLOBFTHAL TVARRTREL,

(6) What is the management activity about security of the press release, etc.?

TLAN)=ABREADEF2Y T4V TR, EALER(ER) ZLTLHH?
ARONBAORRI, REICEELTVS,

(@ Is seasonal adjustment applied to sub level of IAA or itself?
FHRBTLFEBOENIELANTERESNSD, F-ThBE (2K ELTH?

BAMEEIR, FERER, AB) O FHARBERTOEROFHAREL T OTEREA, B
SETHERIRECEHRBLML, 2EXTDERLHOFHREEL, L0 RREH (B
£ 0T% SR ABOERERZREROVITNETYLELO) ZFMHARL THER,

When you do seasonal adjustment, please specify the method?
do you use sum-method? do you change base-index?
FHRBELTVED, TOHEEEERMIEF TN,
—~blt-IHEMEEERT A0 HRRIA-ZAOEHEEZ L

@;g&smﬁu‘ E#ECLAZHRE OTAEORY. EHENOZHARELOENEEE
DFEEHER,

_10_
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HEZE2
6. IAI

D How long did it take for developing indicator?
SHIEHEEET IDICEDERERMAINIOF=M?

7!‘:'51o HEHERIT T Do a M, By —ILELTEZHLEELD , BEEICHER-9HLT
LNT=.
BEBRICOVWTIE. RE—~A. — ATHEELE.

(@How many person is in charge IAI?

HHF(EF AL ?
AN (BEREXEFBIEBRUIAALZFKE)

@ How do you produce private consumption? what kind of data are used?

EDXSICRRBIABZFELTLSD? ESVST—EAEAIN TN SH?

©~(:OL\'C(;L TEF17EREN S EFHEBEBUIOEREREICSOVWTIDEREZES R
D,

A@mu@®IZDLTIE. RLHEEHZAE> TS, BEHMICIE, £EMIEPRTEE. HEBEMIIHE. BXEH
[FTEBELESESICHTIEHTLS, U —ERIFBEAY—ERILEE . ESRRAY—ERTHBFE.
FZEARYINYIT IS TFYLTRENEE LS,

@ How do you produce government consumption? what kind of date are used?

EDSSITBAFHBZTELTLDD? ESLST—ANERAINTLNSH?

®) In the investment, How do you public investment/private commitment/

private company investment could be produced? What data are using for it?

BEICBVWT. EDKSICAHBRE/RREE? . EREERENERIIhEN ? — EALT—EHME
AEhTL%h\?

® What kind of data are using for Intermediate consumption?

PRFBEICFESVSEEDOT—2AMERTN T SH\?

@ What is the criterion of selecting sub—level of IAl and what is the compiling method?
LEIBROERN D FELARIILOBRIREELINE S EIEfAIH 2

BRFH?

How do you design weighting method?
DIAEEDESISEHE(THA2) T HhH?

EEF(FEF17H)OEXERROFTEREBEHBABRLEIYER,

) Please explain the cossistency between GDP and Whole industrial Supply Index.
GDPLEARD EHIBIRBMOBFRES [CDOLTEHRBALTESLY,

CORBORFEOBME L. 2000EEE TIXGDPOARI BN =D T, SR HEOERIEICRITT
Wz HBFOBREEALLT. GDPIZEDLS A RDOFFIEIELZAR T 2B MICTI>TERL TS,
4TI, GDPEBABEYMARIESh ., YO HMEIZFERHL TLV\SH. AR TGDPIZEPL-#FE
BELLTOERIEHDLEATIND, B NCIEXRIFRZIEEE R H-5%0,

SRINALABEHIZE>TIAAJAIXERL TS =8, SAIRALARBED/IN(TFARFEET S
AAREKECICE>TLNS, & (CRERE) EEBIZT HETSTRNAILRADNATRERET
BESITRELTLEEL,

advisement about consideration and advisement of compilng if Korea develope 1Al

LLBRERAITEHEEREBET HLLBE . RABECHESEFITOVTTRNNIREERMLILET .

FABMZEBRAEIELTULCERLDTI,

IPAG, IRELI-HEIAR, fHGIERIEHYFEI h . Y—ERBRIITITETAITE>TLET D,
B EIPORBIE—BLETH . —BLANIEN L FlLGRETEEALUEICRHT 585
BIENBAETRESHYES,

_11_
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7. Others

(D What is the used aggregating program and aggregating method?
7055 LEEHAEEMEERIATNAN?

L ) IXEXCELE AL -EUCICA > TLV=AS, #Ei— SV AT LIZBITLTLV S, (STATS)
@ cooperation with department about IAA
LERBOBBLOLRERFIEDSIIGRECH?

RLCABETYT L.
@) Internally, Are you reviewing Business Cycle index and GDP to analyze the future economic

RERRYIZ . G EDBFIL R E DT B1-8IZ, Business Cycle Index(R [ BNREHDEM ? ?)%
GDPZLE1—F 57

MR, TEEFHAMTIELTHMLARLTVETS,
@ Is it good relation with organization in charge of GDP production

GDPYER DB LKL X R IFLEFRETHAN ?
GDPIZHREFFMERLTLVAA, BIFLEFETHS,

2001 EIZARTOLRICHYEZ-BIZ, AREFLEDTHRLVEDENEFHE -, LHLEK
L=,

_12_
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overview of revision of indices of tertiary industry
activity

The indices of Industrial Domestic Shipments and
Exports and The Indices of Industrial Domestic

Shipments and Imports(201148 1082 £8) S
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